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1-10 90 80 70 60 50 40 30 20 10 0

Ответы

об. 108

1. 96

2. 108

3. 65

4. 85

5. 105

6. 96

7. 126

8. 102

9. 51

10. 135

Используйте распределительный закон при решении.

об) 6 × 18 = (6 × 9) + ( 6 × 9 )
=

10854 + 54

1) 6 × 16 = (6 × 8) + ( 6 × 8 )
=

9648 + 48

2) 18 × 6 = (8 × 6) + ( 10 × 6 )
=

10848 + 60

3) 13 × 5 = (3 × 5) + ( 10 × 5 )
=

6515 + 50

4) 17 × 5 = (7 × 5) + ( 10 × 5 )
=

8535 + 50

5) 7 × 15 = (7 × 6) + ( 7 × 9 )
=

10542 + 63

6) 12 × 8 = (9 × 8) + ( 3 × 8 )
=

9672 + 24

7) 14 × 9 = (8 × 9) + ( 6 × 9 )
=

12672 + 54

8) 17 × 6 = (7 × 6) + ( 10 × 6 )
=

10242 + 60

9) 17 × 3 = (7 × 3) + ( 10 × 3 )
=

5121 + 30

10) 9 × 15 = (9 × 9) + ( 9 × 6 )
=

13581 + 54
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